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St chiomatry Prachice
TgAte 9B

How many g of ByH, will react with 3.00 mol of Oy?
B,He () + 30,(g)———B203(s5) + 3HO(I)
How many g of Al will react with 3.00 mol of O?

4A1(s) + 30,(g)—>2A1,03(s)

Calculate the amount of CrCl; that could be produced from
50.0 g Cr,O5 according to the equation

Cr,0s(s) + 3CCly (1) ——>2C1Cly(s) + 3COCl,(ag)

A 3.5-g sample of water reacts with PCl; according to the -
following equation:

3H,0() + PCly(g)~——> H3POs(aq) + 3HCI(ag)

How many g of HsPOj; are produced?

493 Joseph Priestiey discovered ox{zgen in the eighteenth century

by using heat to decompose mercury (1) oxide:

2HgO(s)—2-2Hg(l) + Oa(g)
How much oxygen is produced from 1.00 X 107 g HgO?

4.94 Dinitrogen monoxide (also known as nitrous oxide and used

as an anesthetic) can be made by heating ammonium nitrate:

NH,NOs (8)———s N,O(g) + 2H,O(g)

- How much dinitrogen monoxide can be made from 1.00 X 10°g
of ammonium nitrate?

4.95 The burning of acetylene (CH,) in oxygen is the reaction

in the oxyacetylene torch. How much CO; is produced
by burning 20.0 kg of acetylene in an excess of O,? The
unbalanced equation is

CgHz(g) + Og(g)ww—%CC)z(g) “+ HZO(g)
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